Chemistry 141 - 3923




Name 





Dr Cary Willard




May 11, 2005


Quiz 10 (20 points)

1. (10 points) An unknown compound consists of 33.81% C, 1.42% H, 45.05% O, and 19.72% N by mass.  A 1.505 g sample of the compound, when dissolved in 50.00 mL benzene (d=0.879g/mL) lowers the freezing point of benzene to 4.70oC.  What is the molecular formula of the compound?  (freezing point benzene 5.53oC, kf benzene = 5.12oC/m)
2. (10 points) A mixture of 5.25 g I2 and 2.15 g Br2 is brought to equilibrium in a 3.15 L reaction vessel at 115oC.  At equilibrium, 1.98 g of I2 is present.  What is Kc at 115oC for this reaction?  What is the Kp?
I2(g)  +  Br2(g) ((  2 IBr(g)  









